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Q1. Consider the following statements: [UPSC CSP 2016]

1. The minimum age prescribed for any person to be a member of Panchayat is 25 years.

2. A Panchayat reconstituted after premature dissolution continues only for the remainder period.

Which of the statements given above is/are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

+ Show

Answer

Q2. Consider the following statements regarding Menstrual Health:

1. More than 50% of girls in India are aware of menstruation before menarche.

2. As per NFHS 5, Uttar Pradesh is the only state, in which less than 60 percent of women use period

products.

3. Recently, Scotland has become the first nation in the world to legally protect the right to access free

period products.Which of the following statements is/are correct?

(a) 1 and 2 Only

(b) 1 Only

(c) 2 and 3 Only

(d) 3 Only
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Q3. Consider the following statements:

1. India is the third largest producer of electricity in the world.

2. India is the largest consumer of electricity in the world.

Which of the statements given above is/are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

+ Show

Answer

Q4. Consider the following statement about Gender Inequality Index (GII).

1. The GII is a composite measure, reflecting inequality in achievements between women and men in

three dimensions: reproductive health, empowerment and the labour market.

2. The GII varies between 1 (when women and men fare equally) and 0 (when men or women fare poorly

compared to the other in all dimensions).

Which of the statement/s given above is/are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

+ Show

Answer

Q5. Consider following statements about Ken-Betwa river link project:

1. The linking canal will flow through Chhatarpur, Tikamgarh and Jhansi districts.

2. The link will be in the form of a canal that will be fed by the new Daudhan Dam on the Betwa river.

Which of the above statements is/are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

+ Show

Answer
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